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Part A: Vocabulary and Grammar
Directions: Choose the number of the answer (1), (2),(3), or (4) that best completes the sentence. Then mark
your choice on your answer sheet.

™ 1- She ....... several famous experts to back up her argument: we can learn a foreign language well even
in old age.
1) attribute 2) derived 3) invoked 4) deviated
A 2- Even though she knew she was wrong, she was ......... to openly admit it.
1) variable 2) reluctant 3) disobedient 4) submissive
TR 3- Sleep has often been thought of as began in some way ........ to death.
1) alike 2) compatible 3) analogous 4) comparative
A 4- Some institutions still have a strong ....... against women and employ them if they are forced to.
1) bias 2) restraint 3) morality 4) inclination
TR 5- Historians are obviously not happy with the present strict rules on the ......... of official information
on the Cold War.
1) relief 2) reign 3) release 4) restraint
T 6- The skilled use of make-up in films is essential to ......... the actor's best features and makes them

more attractive.
1) occur 2) attain 3) ecounter 4) enhance

R 7- I've made quite a lot of last-minute ....... to the article: I think it's now ready for publication in the newspaper.

1) assembly 2) complement 3) constitution 4) amendment
= 8- It's no use ......... John; I don't think he'll have the time to help us.

1) to ask 2) asking 3) she asks 4) for asking
R_Y-......... I sympathize with your point of view I cannot accept it.

1) While 2) Despite 3) However 4) Nevertheless
= 10- The people ......... were excellent at reading maps.

1) I was traveling with 2) whom I was traveling

3) I was traveling with them 4) that I was traveling with them

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1),(2),(3), or (4) best fits each blank. Then
mark your choice on your answer sheet.

Although the organs require a blood supply, ...(11)... depend more critically than others on a continuous flow
Muscles, especially if they are not being used, ...(12)... unscathed even when deprived ...(13)... their blood
supply for many minutes. But ...(14)... blood flow to the brain, and it begins to malfunction within seconds,
...(15)... loss of consciousness.

A& 11- 1) they 2) some 3) none 4) they may

X 12- 1) remain 2) they remain 3) they will remain 4) and will remain
™ 13- 1) by 2) of 3) with 4) from

X 14- 1) interruption 2) interrupting 3) it interrupts 4) interrupt

W 15- 1) causes 2) it causes 3) causing 4) that causing
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Part C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best choice
(1),(2),(3), or (4). Then mark it on your answer sheet.

PASSAGE I:

'Imputability' in the context of state responsibility means that a state is only responsible for acts or omissions which can
be attributed to it as its own. Imputability is a legal fiction assimilating the acts of those identified above to the state as if
they were its own. A state is not responsible for acts committed by one of its nationals against a foreigner. The individual
may, of course, be liable to prosecution in the domestic courts and indeed the government concerned may be held
internationally liable if it fails to discharge its duty of diligently prosecuting and properly punishing. Acts of private
persons performed on their own initiative in an emergency, e.g. a natural disaster, are attributable to the state.

A state can not deny responsibility for an international wrong on the grounds that the act is under its domestic
law ultra vires. A state can be held liable for the conduct of an official even when official competence has
been exceeded, provided that the officials acted with apparent authority as competent officials or organs and
the powers or methods used were appropriate to this official authority.

In the Youmans Claim, Mexico was held liable for the conduct of certain members of its militia who acted in
defiance of orders and instead of affording protection to a group of Americans, opened fire on the house where
the latter were seeking refuge. A state is responsible for the acts of all its officials irrespective of their rank. It
is not responsible for the conduct of either foreign states or international organizations within its territory. A
state is not held liable for the activities of insurrectionaries, but should the insurrectionaries be successful in
their objective and become the subsequent government they (as the legitimate government) will be held liable
for any wrongful act committed during their struggle for power.

R 16- What does the passage mainly discuss?

1) The question of separation

2) A state's responsibility for the acts of all its officials

3) A state's responsibility for an international wrong.

4) The diplomatic negotiations on an international apology.

& 17- According to the international law, a state is liable for .........

1) any organ, agency, and official employee acting within the scope of their employment.
2) any subdivision of the state
3) the government

4) all of the above
A 18- According to the second paragraph, a state is not responsible for acts committes by .........
1) a private individual law 2) a government employee
3) an agent of the government 4) a member of security forces
TR 19- A state is liable for an international wrong if the act is .........
1) performed under the domestic 2) beyond the scope of the domestic law
3) performed with apparent authority 4) beyond the scope of legal authority
TR 20- A state is liable for the activities of insurrectionaries .........

1) only if the officials act in defiance of orders.

2) only if the uprising becomes the subsequent government.

3) and the insurrectionaries must be successful in their objectives.

4) and international organizations must be successful in their objectives.

PASSAGE 2:

Ownership has been described as 'the entirety of the powers of use and disposal allowed by law'. The owner of a
thing has an aggregate of rights, namely (i) the right of enjoyment, (ii) the right of destruction, and (iii) the right of
disposition, subject to the right of others. Thus if A owns a hat he or she can wear it, alter it, burn it, or merely
throw it away. There are, however, limits to these rights. If A throws the hat at B, this might be an assault on B (or
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Part A : Vocabulary
Directions: Choose the number of the answer (1),(2),(3), or (4) that best completes the sentence. Then mark your
choice on your answer sheet.

R 1- Even as a young man he had been ............ as a future chief executive.

1) equipped 2) perceived 3) submitted 4) maintained
R 2- In exceptional .......... students may arrange to take examinations at other times.

1) alternatives 2) implications 3) circumstances 4) distributions
T 3- There was a notice board ...... job vacancies and information on how to apply for them.

1) imposing 2) monitoring 3) displaying 4) transferring
X 4- After a full ......... lasting over 2 years, very little new evidence had come to light.

1) approach 2) exploitation 3) investment 4) investigation
R 5- The measures taken should considerably ......... the resident's quality of life.

1) insert 2) trigger 3) advocate 4) enhance
T 6- Technological advances could ......... lead to even more job losses.

1) randomly 2) inherently 3) ultimately 4) empirically
A 7- By completing a task on schedule you may .......... a feeling of pride in your work.

1) devote 2) derive 3) undergo 4) glance
2 8- Roman coins that she showed me were .......... to the one I had found in the garden.

1) crucial 2) specific 3) adjacent 4) identical
R 9- A through understanding of mathematics is sufficient to explain a wide variety of natural ......... .

1) criteria 2) principles 3) phenomena 4) components
2 10- For centuries housework and shopping have been identified as female .......... .

1) targets 2) domains 3) sectors 4) contexts

Part B: Grammar

Directions: Read the following passage and decide which choice (1), (2),(3), or (4) best fits each blank. Then
mark your choice on your answer sheet.

There are many methods of mining ...(11)... is based upon where a mineral deposit ...(12)... in the earth.
While some mineral deposits are far ...(13)... ,others lie at or ...(14)... the earth's surface. Several different mining
methods ...(15)... deposits occur close to the earth's surface.

™ 11- 1) that 2) each of which 3) every method 4) while any of them
T 12- 1) is found 2) found 3) finding 4) being found

™ 13- 1) away 2) deep 3) from 4) underground

™ 14- 1) in 2) near 3) within 4) above

= 15- 1) are used when 2) which used 3) when used 4) which are used
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

R 1- There was once a big difference between the two theoreticians, but now there is some ......... of
opinions between them.
1) conviction 2) partnership 3) presumption 4) convergence
TR 2- The treatment that used to be given for this illness is now out of ........... .
1) vogue 2) impact 3) prospect 4) dimension
T 3- Talks are being held about who should have ......... over the island.
1) sovereignty 2) sustainability 3) establishment 4) implementation
T2 4- The new law allows the members to make decisions by majority vote, rather than by............ .
1) enormity 2) unanimity 3) proponent 4) constitution

2. 5- Now that English is used as the main language, the country's native language has been ....... .

1) contradicted 2) violated 3) marginalized 4) differentiated
2 6- The responsibilities of the different people working in this department are clearly........... .
1) attributed 2) interacted 3) orientated 4) demarcated
T\ 7- The museum is planning to increase the amount of space ........ to modern art.
1) endorsed 2) promoted 3) allotted 4) displayed
2. 8- Women's employment opportunities are often severely ......... by family commitments.
1) embraced 2) conflicted 3) reprimanded 4) constrained
TR 9- Although these research topics are all related to linguistics, they can be divided into four ......
categories.
1) integral 2) discrete 3) adjacent 4) ultimate
R 10- A new treatment causes the disease to enter a(n) ....... phase, but the sufferer will never be fully
cured.
1) latent 2) focal 3) erosive 4) underlying

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space, Then
mark the correct choice in your answer sheet.

Jupiter is the largest of the nine planets that travel around the Sun. Its orbit lies beyond those of Mars and the
asteroid belt, at ...(11)... from the Sun of 778 million kilometers. It takes 1186 Earth years ...(12)... one orbit
around the Sun and rotates on its axis once every 9 hours 55 minutes 29 seconds.

From Earth, Jupiter appears to the naked eye as a bright star-like point, second ...(13)... Venus in brilliance.
Astronomers of ancient trimes named Jupiter in honour of the ruler of the gods worshipped in the Greco-Roman
world, though they had no idea ...(14)... the name actually was. In fact, Jupiter is larger than all the other planets
put together. Its diameter is 11 times ...(15)... the Earth, and it could contain more than 1500 Earths within its
volume. Its mass is 318 times that of the Earth, but because it is so large, Jupiter is remarkably light, its density
being only slightly greater than that of water.
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

2 1- When the meeting was over, the audience .......... .

1) dispersed 3) deformed 3) denoted 4) delineated
TR 2- Many countries .......... the Kkilling of innocent people.

1) detained 2) deplored 3) granted 4) grounded
A 3- The regulations ......... that everything has to be based on safety standards.

1) perceive 2) specify 3) rejoin 4) materialize
X 4- UN officials ........... between the rebel fighters and government.

1) persuaded 2) debated 3) mediated 4) negotiated
2 5- We have the computer at our ........... for the whole month.

1) treatment 2) disposal 3) vacancy 4) maintenance
™ 6- The .......... of the economic crisis was that many factories were closed down.

1) misconduct 2) erosion 3) upshot 4) cricumstance

& 7- Many refugees crossed the......... between Iraq and Turkey.

1) drawback 2) frontier 3) scratch 4) threshold
T2 8- All the cars are tested for possible ............ before they leave the factory.

1) ingredients 2) factions 3) defects 4) diverstities
R 9- Providing good service is ........... to a successful business.

1) intrinsic 2) intense 3) exposed 4) credulous
T2 10- The old idea that language learning is not a matter of repetition is no longer .......... .

1) constant 2) analogous 3) proficient 4) tenable

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Ecology is the study of the relationship of plants and animals to their environment, and to one another. The word
ecology ...(11)... the Greek word oikos, meaning house or place to live, and from the word logos, meaning science
or study. The word was first promulgated by the German naturalist Ernst Haeckel in 1869 and used by Charles
Darwin ...(12)..., but it was in limited use even earlier as evidenced by the writings of the American naturalist and
poet Henry David Thoreau.

Man pollutes the air he breathes and the water he drinks. His concern with the problem of pollution may be
purely an environmental issue ...(13)... an ecological issue in that he wants clean, noncorrosive air and water and
is concerned mainly with the quality .of the physical environment. ...(14)... the focus of his concern becomes the
plants and animals that are contaminated, then the issue ...(15)... he is dealing is ecological. Some of our current
problems are primarily environmental, but the majority and by far the most complex of our problems are of an
ecological nature.
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PART A:
Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

T 1- Doctors should ......... a while on the wisdom of separating babies from their mothers.

1) ponder 2) resolve 3) recover 4) proceed
A 2- Is the job of the police to enforce ......... With the regulations?

1) authority 2) compliance 3) resolution 4) proceed
R 3- He was found guilty of ......... of justice.

1) deviation 2) obstruction 3) implication 4) submmmission
TR 4- The lawyer claimed that the company had shown a(n) .......... Disregard for its employees' safety.

1) reckless 2) engrossed 3) illegible 4) tentative
R 5- The book explains the ........... of the English language from old to modern English.

1) initiation 2) incidence 3) reverence 4) evolution
R 6- The party is promising low inflation and .......... Economic growth.

1) mature 2) haphazard 3) sustainable 4) preliminary
WX 7- We have............. Many new features into the design of the building.

1) displaced 2) assigned 3) enhanced 4) incorporated
2 8- Global warming might ........... dramatic changes in our climate.

1) induce 2) compile 3) conceive 4) penetrate
2 9- Some teachers welcomed the change in the educational system; but for the majority, the ......... was
true.

1) revival. 2) converse 3) endeavor 4) contradiction
2 10- The problem had been ......... to in earlier discussions.

1) alluded 2) assumed 3) coincided 4) overlapped

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Mass communication is the sending of messages through the mass media of television, radio, newspapers, and the
cinema. Mass communication ...(11)... a mass of people, that is, a large number of "receivers". It is an expensive
business ...(12)... can usually only be undertaken by large companies with large amounts of money ...(13)..., such
as television and radio companies, publishing houses, and film studios. The technology used is costly and complex,
and can rapidly become ...(14)... date. Mass communication has arisen mainly in the 20™ century. It depends upon
...(15)... a certain degree of education. This century has seen the invention of radio and television, and the growth
of newspaper and magazine circulations.

B 11- 1) aims to 2) has aim at 3) is aimed at 4) has aim to
A& 12- 1) so 2) for 3) that it 4) which it
X 13- 1) spends 2) spending it 3) to spend 4) for spending
B 14-1) to 2) out for a 3) for the 4) out of

& 15- 1) public having 2) public to have 3) the public to have 4) the public having
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

A 1- She emanated worldliness and the selfishness of one who is ........... to everything but her own needs
and caprices.

1) visible 2) available 3) compensatory 4) indifferent
T 2- Concrete blocks were piled high to ........... the government center.

1) fortify 2) circulate 3) reveal 4) overlap
R 3- All sound has three .......... : pitch, volume, and duration.

1) impacts 2) properties 3) merits 4) realms
T 4- One of Britain’s most .......... criminals has escaped from prison.

1) meritorious 2) indigenous 3) notorious 4) industrious
TR\ 5- By the 1930s the wristwatch had almost completely .......... the pocket watch.

1) devised 2) supplanted 3) thwarted 4) founded
2 6- She cared for her stepmother with unfailing ........... throughout her long illness.

1) devotion 2) defect 3) conformity 4) prevalence
X 7- Ryan needed .......... agreement to bring his proposal up for a vote.

1) contentious 2) deliberate 3) adjacent 4) unanimous
R 8- With so much water having ........... its exterior, the engine was effectively ruined.

1) varnished 2) inhabited 3) penetrated 4) exceeded
. 9- Considering the .......... of his injuries, he’s lucky to be alive.

1) hurdle 2) extent 3) divergence 4) symptom
2 10- They intend to keep their force there in the region to ........... compliance with the treaty.

1) verify 2) seize 3) recollect 4) conquer

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. The
mark the correct choice on your answer sheet.

The extensive fossil record of genera and species is testimony that dinosaurs were diverse animals, (11)... lifestyles
and adaptations. Their remains (12) ... in sedimentary rock layers (strata) dating to the Late Triassic Period
(227 million to 206 million years ago). The abundance of their fossilized bones is substantive proof (13)...
dinosaurs were the dominant form of terrestrial animal life during the Mesozoic Era (248 million to 65
million years ago). It is likely that the known remains (14)... a very small fraction (probably less than 0.0001
percent) of all the individual dinosaurs (15)... .

™ 11- 1) and widely various ~ 2) with wide varieties 3) with widely varying 4) and varying with wide
™ 12- 1) found 2) are found 3) that are found 4) have found

W 13- 1) whether 2) when 3)if 4) that

T 14- 1) representing 2) a representation of 3) representative of 4) represent

™ 15- 1) were living once 2) that lived once 3) that once lived 4) once that they lived
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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

R 1- I was confused when reading the student’s paper because it lacked .......... . First she told about a trip
to a farm, and then she described her math test, and her topic was supposed to be about a favorite building.
1) persistence 2) coherence 3) equivalence 4) inference
T 2- If you are here in the autumn, you will also see that oak is losing its leaves. Most oak trees are ......... ,
meaning they lose their leavers in the fall.
1) deciduous 2) symbiotic 3) immutable 4) asymmetrical
R 3- When I went to visit, Marsha’s greeting was .......... A few people had told me that she was often cold
and unfriendly, but I did not find her so.
1) cordial 2) inevitable 3) ravenous 4) gloomy
T 4- One area that greeting illuminate is .......... For example, which person says “hello” first and how
someone is greeted can be part of the stratification system in a society.
1) awe 2) demise 3) deterrence 4) status
R 5- Welfare workers were sternly ......... by the court for ignoring the woman’s plea for help.
1) transmuted 2) coerced 3) rebuked 4) enforced
X 6- Kate shouldn’t have any problem finding a job with her ......... of skills.
1) attachment 2) repertoire 3) initiation 4) expertise
™ 7-To ......... the boredom that had set into my life, I decided to live on a farm for a year.
1) fluctuate 2) elicit 3) distract 4) alleviate
X 8- We should ......... our nation’s teachers because they have much of the responsibility for educating
the future.
1) verbalize 2) vindicate 3) venerated 4) verify
™ 9- Twins, being of ......... ages, are usually even better matched on environmental variables during
upbringing than are siblings.
1) identical 2) volatile 3) adjacent 4) consistent
2 10- The great strength of 123 for Windows is its ........ with all the earlier versions of the product.
1) disparity 2) neutrality 3) compatibility 4) clarity

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

In a fundamental discovery made in 1954, James Olds and Peter Milner found Milner found that stimulation of
certain regions of the brain of the rat acted as a reward in teaching the animals to run mazes and solve problems.
The conclusion from such experiments (11) ......... stimulation gives the animals pleasure. The discovery has also
been confirmed in humans. These regions are called pleasure or reward centers. One important center is in the
septal region, (12) ......... are reward centers in the hypothalamus and in the temporal lobes of the cerebral
hemispheres (13) .......... When the septal region is stimulated in conscious patients (14) ......... neurosurgery,
there are feelings of pleasure, optimism, euphoria, and happiness.

Regions of the brain also clearly cause rats distress when electrically stimulated; these are called aversive centers.
s5)......... , the existence of an aversive centre is less certain than that of a reward centre.
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Part A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark your
answer sheet.

R 1- Ted's father seems eccentric; he is frequently observed behaving in an ......... manner.
1) enthusiastic 2) adept 3) enduring 4) unconventional
X 2- The ........ of scientific thinking has institutionalized the idea that knowledge has to progress and can
do so only through research.
1) artifact 2) advent 3) oversight 4) renown
X 3-Paul ........ the fact that his closest friend didn’t trust him.
1) resented 2) procured 3) notified 4) raised
R 4- Jill's dinner parties quickly became monotonous on account of her ........ for Mexican dishes.
1) dispersal 2) flavor 3) penchant 4) rumor
TR 5- When participating in a yoga class, Katarina attains a placid state; the ........ music and soft lighting
invoke a serenity that is otherwise lacking in her frenzied existence.
1) uproarious 2) sporadic 3) soothing 4) skyrocketing
X 6- Eighteenth — century urban dwellers lived in much worse conditions than their modern ........ .
1) mediators 2) residents 3) rivals 4) counterparts
R 7- However, many couples who have been unable to have children are, understandably, ......... to adopt
mentally handicapped children.
1) reluctant 2) insufficient 3) benevolent 4) fallacious
A 8- One of our students was unable to ........ her wheelchair up the ramp.
1) enhance 2) propel 3) salvage 4) initiate
A 9- After the organization aided the catastrophe victims, it was given an award for ..........
1) innovation 2) conciliation 3) lavishness 4) altruism

& 10- Although many women had little control over their own lives in medieval England, Margery

Kempe’s fifteenth — century autobiography ........ a remarkable degree of autonomy.
1) compromises 2) negates 3) manipulates 4) demonstrates

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark your answer sheet.

Since antiquity, human beings (11) ......... life spread far and wide in the universe. Only recently (12) .........
come to understand the nature of life on Earth and (13) ........ life exists elsewhere. Recent discoveries of planets
14) ........ other stars and of possible fossil evidence in Martian meteorites have gained considerable public
acclaim. And the scientific case for life elsewhere has grown stronger (15) ........ the past decade. There is now a
sense that we are verging on the discovery of life on other planets.

™ 11- 1) would have imagined 2) had imagined

3) have imagined 4) imagined
W 12- 1) science has 2) has science 3) science had 4) is science

X 13- 1) it is possible 2) it is the possibility of 3) that is possible for 4) the possibility that
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Directions: Read the following five passages and select the answer choice (1), (2), (3), or (4) that best answers
each question. Then mark your answer on your answer sheet.

Passage 1:

Several attempts to think internationally appeared in the 19" century. The founding of the International Committee
of the Red Cross (ICRC) was an early effort to find world agreement, in the absence of a world government, to set
limits to war making. The ICRC was founded in Geneva, Switzerland August 22, 1864 in a meeting prompted by
concern over the neglect of the sick and wounded at Solferino in the Franco —Austrian War of 1859. A Swiss
citizen, Henri Dunant, was the prime mover and the Swiss government was the convener. The major result was a
“Convention for the Amelioration of the Condition of the Wounded Armies of the Field.” This document provided
for the protection of the ambulance corps, and for doctors, nurses, and hospitals, as long as they functioned solely
for medical purposes. A further meeting in 1868 proposed the same provisions for treating the sick and wounded at
sea. Further ICRC meetings were held in 1906 to take account of events in the Spanish — American war.

2. 1- What is the passage mainly about?

1) How the ICRC came into existence

2) How the wounded were helped in the 19" century
3) Thinking globally

4) The major concerns of ICRC

TR 2- Which of the following is true about the ICRC?

1) It put an end to the Franco-Austrian War. 2) It came under heavy attack by Henri Dunant.
3) It was neglected at Solferino. 4) It was established in Geneva.

2 3- What does the word “ prompted” in line 3 mean?

1) Recovered 2) Motivated 3) Concentrated 4) Perceived
2 4- When was the same proposal for treating the sick and wounded at sea made?
1) In 1864 2) In 1906
3) Four years after the establishment of the ICRC 4) Five years before the establishment of the ICRC
R 5- How many wars are mentioned in the passage?
1) Two 2) One 3) Four 4) Three
2 6- What does the word “solely” in line 7 mean?
1) Efficiently 2) Merely 3) Seriously 4) Secretly
Passage 2:

In Anglo-Saxon times there existed three fairly distinct legal systems: The Dane Law, which had been adopted after
the invasions and settlement of Danish and Scandinavian warriors in the coastal areas of northern and northeastern
England; Mercian Law, which bore traces of Germanic origin, following the Saxon invasions, and extended around
the Midlands; Wessex Law, which applied in south and west England. In each of the three systems the law was
based on customs, and the customs varied from place to place and shire to shire. There was little distinction
between criminal wrongs and civil wrongs at this time; the laws were generally primitive but nevertheless served to
produce such good order as could be expected. But there were courts of law where cases were heard. The Anglo —
Saxon courts before 1066 were : (i) The Shire Court (or Moot), presided over by the Sheriff, the Bishop, and the
Ealdorman, and attended by the lords and freemen of the county, with the priest. This court sat twice a year. (ii)
The Hundred Court (“hundred” means a division of a shire), presided over by the Hundredman, assisted by twelve
senior thanes. (iii) The Franchise Courts, granted to certain persons by the monarch. The grantees were entitled to
the profits, for the suitors or litigants who brought their cases to court for trial were required to pay fees. In Norman
times the franchise courts were sometimes taken over by the lords of the manor who, in deciding disputes between
tenants of land, continued the practice of charging fees.
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PART C: Comprehension

Direction: Read the following five passages and answer the questions by choosing the best choice (1), (2), (3) or
(4). Then mark the correct choice on your answer sheet.

Passage 1:

The judiciary plays a particularly important role in a system based on the rule of law. This role is
complemented by the business-oriented alternative mechanism for dispute resolution, notably mediation,
conciliation, and arbitration. As it must by now be clear, law is not merely a collection of written laws and
regulations. It also includes the manner in which these rules are actually implemented by government agencies
and applied and interpreted by judges and arbitrators. Without having to conceive of law necessarily as "the
prophecies of what the courts will do in fact," one can readily recognize that a well-functioning judiciary, in
which judges apply the law in a fair and predicable manner, and without undue delays or unaffordable costs, is
part and parcel of a functioning system of law. Moreover, such a system of law requires that rules be
interpreted, applied, and, where authorized, departed from according to established procedures. It also requires
that respect for rules be ensured in the final analysis by the force of the State and that an independent body
exist to resolve disputes. The Judiciary may also identify inconsistencies of the rules with the basic law or the
constitution. It serves as the final institution to monitor and address allegations of corruption, arbitrariness,
and lack of accountability by other branches of government. Together, these elements help create an effective
competitive system and atmosphere of social peace in which business can flourish.

R 1- What does the passage mainly discuss?

1) The importance of judiciary in a law- based system

2) Techniques the judiciary uses to resolve business disputes.
3) Characteristics of a functioning system of low

4) The role of the judiciary in business and politics.

A 2- The word "dispute" in line 2 is closet in meaning to ............ .
1) discrimination 2) constraint 3) disagreement 4) irregularity
TR 3- The passage states that a well- functioning judiciary ............ .

1) refers to a system in which judges work independently of each other
2) may impose extra costs on a system of law

3) take long to interpret and apply law

4) applies laws in an unbiased manner

TR 4- All of the following are given as the responsibilities of the judiciary EXCEPT ............ .
1) resolving disputes between business parties.
2) reducing competition between businesses.
3) dealing with the illegal actions of government branches.
4) looking for contradictions between rules and the constitution

R 5- Why does the author refer to "the State" in the passage?

1) To describe how the State provides collections of written laws.
2) To introduce the body responsible for dispute resolution.

3) To emphasize its role in law enforcement.

4) To explain why rules must be respected

2 6- Which of the following best describes the tone of the passage?
1) Favorable 2) Defiant 3) Historical 4) Controversial
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Directions: Read the following five passages and select the answer choice on your (3) or @) that best answers

each question. Then mark the correct choice on your answer sheet.

PASSAGE 1:

Armed attack or armed aggression in the maritime domain may involve conventional sea mines, missiles, and
traditional military aviation as well as submarine platforms. During a period that extended from the first Hague
conference in 1899, through two world wars, and continuing until the end of the Cold War, the predominant
influence of law on sea power were naval arms control regimes. Arms control sought to limit the risk or effects of
naval warfare. Naval arms control refined the laws of naval warfare and prescribed conduct at sea by erecting
"firewalls" that separated opposing fleets or by creating limitations on the means of naval warfare, such as the use
of sea mines, or restrictions on the methods of naval warfare, such as the proscription against unrestricted
submarine warfare. These rules were designed to maintain the peace or prevent the expansion of war at sea by
controlling the types and numbers of warships, the types of permissible weapons, and how those weapons may be
employed.

During the period between the two world wars, the Washington Treaty of 1922 fixed battleship ratios for all of
the major maritime powers. While the agreement actually did slow the construction of capital warships, it also had
the perverse effect of creating conditions and incentives to redirect naval ambitions into other systems, such as
submarines, that were not explicitly controlled. The last major fleet engagement ended with the Battle of Leyte
Gulf in October 23-26, 1944. The final naval battle of the war, the Battle of Okinawa in the spring of 1945, was
the largest amphibious assault of the Pacific theater.

T2 1- Which of the following would be the best title for the passage?
1) Arms Control during the Cold War
2) The First Hague Conference
3) Armed Aggression at Sea
4) Law and Sea Power

W2 According to the passage, armed attack in the maritime domain is likely to involve using all of the following
EXCEPT .....cccvvveninnenen. .

1) missiles 2) surface combats

3) sea mines 4) submarine platforms

T2 3- What were the main goals of designing naval arms control rules?
1) Limiting the growth of submarines supervising the production of missiles
2) Maintaining peace and prevention of further growth of war at sea
3) Restricting naval warfare and promoting good behavior at sea
4) Prescribing good manners at sea and establishing firewalls

2.4- What does the word "proscription" in paragraph 1 mean?

1) Prosecution 2) Provocation

3) Prohibition 4) Proliferation
2. 5- What does the word "it" in paragraph 2 refer to?

1) Agreement 2) Effect

3) Construction 4) Battleship

2. 6- What is the author's attitude toward the Washington Treaty?
1) Sarcastic 2) Highly critical
3) Cautionary 4) Both positive and negative
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Directions: Read the following six passages and select the answer choice (1), (2), (3), or (4) that best answers
each question. Then mark your answer on your answer sheet.

PASSAGE 1:

Amendment needs always to be thought about seriously when drafting and negotiating a treaty; afterwards is just
too late. Although amending a bilateral treaty causes no great technical difficulty, amending a multilateral treaty
can raise a multitude of problems. It may have as many as 150 or more parties and be of unlimited duration. These
factors lead to two basic problems. First, the process of agreeing amendments and then bringing them into force for
all the parties can be even more difficult than negotiating and bringing into force the original treaty. Secondly,
because of their long life, multilateral treaties are often in need of amendment.

Before the Second World War, treaty amendment usually required unanimity. This is generally still the rule for the
constituent treaties of regional international organizations like the Council of Europe and the European Union. But
in other cases a practice has developed by which an amendment enters into force only for those parties willing to
accept it. This means that the original treaty still remains in force (1) as between the parties that do not accept the
amendments and (2) between those parties and the parties that do accept them. This results in a dual treaty regime.
This highly unsatisfactory result is made much worse when there is a series of amending treaties.

2. 1- What is the first paragraph mainly about?

1) Dealing with a series of amending treaties
2) Bringing amendments into force for all the parties
3) Problems caused by amending a multilateral treaty

4) Main advantages of thinking about amendment seriously

2 2- Which of the following statements is true?

1) A multilateral treaty is likely to be of unlimited duration.

2) Amending a bilateral treaty is a source of causing difficulty.

3) A bilateral treaty is likely to involve as many as 150 parties or even more.

4) Amendment needs to be considered seriously after a treaty has been fully negotiated.

2.3- Why does the author refer to the Council of Europe and the European Union?

1) To emphasize the important issue of dual treaty regime
2) To highlight the element of unanimity during the Second World War
3) To illustrate organizations which were established before the Second World War

4) To offer examples of the constituent treaties of regional international organizations

2.4- The word "it" in paragraph 2 refers to ......... .
1) a practice 2) force 3) an amendment 4) the original treaty

2.5- The word "them" in paragraph 2 refers to ......... .

1) the parties 2) amending treaties 3) those parties 4) the amendments
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Directions: Read the following five passages and select the answer choice (1), (2), (3), or (4) that best answers
each question. Then mark your answer on your answer sheet.

Passage 1:

It has been seen that the essential task of administrative law is to provide a legal control in relation to the
exercise of administrative powers conferred on various administrative agencies for all sorts of different
purposes. Perhaps the most visible manifestation of this control is an independent judiciary in the shape of
the High Court exercising a supervisory role by which it reviews administrative action to ensure that it is
not ultra vires particular statutory powers or even in excess of prerogative powers. This is the essential
character of the subject, but it does not convey the complete picture since administrative law and its rules
involve not only a rather negative form of control over the exercise of powers but also a rather more
positive aspect. Through its task of interpreting the scope of statutory and other powers, the High Court
should be concerned to identify not only the express limits of the powers, but any realistic implied powers
which may not be spelt out quite so clearly. In this way, it is possible to avoid a situation where a statutory
scheme in an Act of Parliament becomes unworkable. In addition, there will be occasions where the
interpretation of the statutory powers will expedite administration or where a mere technical non-
compliance with the statutory requirements will not lead to the action being condemned as ultra vires.

R 1- The main goal of the passage is to .........

1) examine administrative law in perspective

2) examine certain statutory powers ultra vires

3) introduce an independent judiciary in the shape of the High Court

4) introduce administrative powers conferred on various administrative agencies

TR 2- The supervisory role of the High Court ensures that administrative action be kept within the limits

1) non-compliance with the statutory requirements
2) both statutory powers and prerogative powers
3) only prerogative powers

4) realistic implied powers

R 3- When would it be possible to avoid a situation in which a statutory scheme in an Act of Parliament

becomes impractical?
1) When the High Court identifies realistic implied powers which are not clearly stated.
2) When the high Court cannot provide a legal control in relation to the exercise of administrative powers.
3) When administrative law cannot provide a legal control in relation to the exercise of administrative powers.
4) When the High Court identifies the express limits of the powers which manifest a rather negative form
of control.

R 4- The word "its" underlined refers to ......... .
1) a rather negative form of control 2) administrative law
3) the exercise of powers 4) the High Court
X 5- The word "expedite'" underlined is closest in meaning to ......... .

1) accelerate 2) stipulate 3) rescind 4) adjourn
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PART A: Vocabulary:

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
the correct choice on your answer sheet.

R\ 1- I omitted all the extraneous details while explaining the ........... of the matter to him.
1) breach 2) distinction 3) qualm 4) gist
A 2- While his brother writes in an unclear and clumsy way, Sam himself is known for his ............. style
of writing.
1) lucid 2) verbose 3) dull 4) feasible
R, 3- Poultry farms place the eggs into incubators to ............. the growth of the embryo into chicken.
1) conquer 2) hasten 3) outline 4) elude
W, 4- With as many as three witnesses giving evidence against her, the .............. of her claim that she was

innocent was in serious doubt.
1) demonstration 2) paradigm 3) veracity 4) empiricism

W 5- I did not like her way of teaching because her lecture had too many digressions; she kept on

wandering to various subjects, most of them not ................ to the central idea of her topic.
1) vulnerable 2) peripheral 3) pertinent 4) loyal
W 6- With the advent of electric bulbs and emergency lights, the use of gas lamps became ............... .
1) imprecise 2) repetitive 3) idealistic 4) obsolete
R, 7- The employee did not believe the implausible story that Janet ............ to justify her absence from work.
1) concocted 2) scrutinized 3) manipulated 4) reassured
¥, 8- The doctor has advised him to ............. adhere to the prescribed regimen; otherwise, there is a
danger of relapse of the illness.
1) sequentially 2) strictly 3) ineptly 4) selectively
W™ 9- The .............. in her speech can put off almost anyone; she urgently needs to tone down the harsh
words she uses.
1) explicitness 2) enigma 3) shortsightedness 4) acerbity
R 10- He is so wasteful; he has ................ all the money that he had borrowed from me, and is now back
again asking for more.
1) allocated 2) neglected 3) depleted 4) accumulated

PART B: Cloze Passage:

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Good learners work hard. A few things may come easily to learners, but most knowledge requires effort ...(11)...
to put in the time. They talk with others, read more, study more and carry around when they don’t understand,
...(12)... about it before they go to sleep, at the gym, on the bus. Good learners are persistent. When they fail, they
carry on, ...(13)... that they will figure it out eventually. ...(14).... they learn from their mistakes. Good learners
recognize ...(15)... always fun. But that does not change how much they love it.
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™ 11- 1) which is good learners willing 2) and good learners are willing
3) that good learners willing are 4) willing are good learners
R 12- 1) thinking 2) to think 3) they think 4) by thinking
™ 13- 1) are confident 2) who are confident 3) they are confident 4) confident
R 14- 1) Although 2) In the meantime 3) A case in point 4) Whereas
& 15- 1) learning not be 2) that learning is not 3) to learn not to be 4) learning it is not

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best choice (1), (2), (3),
or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The next few decades will see great changes in the way energy is supplied and used. In some major oil producing nations,
‘peak oil’ has already been reached, and there are increasing fears of global warming. Consequently, many countries are focusing
on the switch to a low carbon economy. This transition will lead to major changes in the supply and use of electricity. Firstly,
there will be an increase in overall demand, as consumers switch from oil and gas to electricity to power their homes and vehicles.
Secondly, there will be an increase in power generation, not only in terms of how much is generated, but also how it is
generated, as there is growing electricity generation from renewable sources. To meet these challenges, countries are
investing in Smart Grid technology. This system aims to provide the electricity industry with a better understanding of
power generation and demand, and to use this information to create a more efficient power network.

Smart Grid technology basically involves the application of a computer system to the electricity network. The computer system can
be used to collect information about supply and demand and improve engineers’ ability to manage the system. With better
information about electricity demand, the network will be able to increase the amount of electricity delivered per unit generated,
leading to potential reductions in fuel needs and carbon emissions. Moreover, the computer system will assist in reducing
operational and maintenance costs.

Smart Grid technology offers benefits to the consumer too. They will be able to collect real-time information on their
energy use for each appliance. Varying tariffs throughout the day will give customers the incentive to use appliances at
times when supply greatly exceeds demand, leading to great reductions in bills. For example, they may use their washing
machines at night. Smart meters can also be connected to the internet or telephone system, allowing customers to switch
appliances on or off remotely. Furthermore, if houses are fitted with the apparatus to generate their own power,
appliances can be set to run directly from the on-site power source, and any excess can be sold to the grid.

2 16- What would be the best title for the passage?

1) Renewable Energy Sources 2) Smart Grid Technology
3) Fears of Global Warming 4) A Challenge to Oil Producing Nations
™ 17- According to paragraph 1, one reason for switching to a low carbon economy is that ..........

1) oil is getting more and more expensive

2) electricity can be produced all over the world

3) some countries may produce less oil than before

4) the oil producing nations do not seem to care about global warming

T2 18- All of following are mentioned in paragraph 1 as future changes in the supply and use of electricity

EXCEPT ..........
1) more electricity will be generated
2) cars will use electricity instead of oil and gas
3) more attention will be given to power generation from renewable sources
4) consumers will attempt to generate the electricity required for their homes and vehicles themselves
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